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B.A.-7411-G   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.A.-7411-G  

ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
ac˜ÁÃ^Eı YÁPˆy‘] ( Subsidiary )  

Yá˚] Yy [ S-2 : Rural and Urban Sociology (SSO-5) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝Tˆ[˝„bÔ DY◊X„[˝◊`Eı C a]EıÁ_›X ^«„GÃ[˝ `“◊]Eı 
Ê`“S›Ã[˝ ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) EıÁ^ÔEıÁÃ[˝S X›◊Tˆ◊X\ˆ¤Ã[˝ C %ÁV`ÔÿöˆÁYXEıÁÃ[˝› Tˆ√º¯ V«◊ªRÙO 
a]Á„_ÁªJÙXÁY…[˝ÔEı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (G) ]ÁX◊[˝Eı [˝Áÿôˆ[˝◊[˝VÓÁÃ^ %ÁÃ[˝. ◊Qˆ. ]ÓÁ„Eı◊tÃ[˝ %[˝VÁX 
[˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) G–Á] C `c˜„Ã[˝Ã[˝ YÁUÔEıÓm◊_ ◊[˝`V\ˆÁ„[˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) XGÃ[˝ÁÃ^„XÃ[˝ a]aÓÁm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 

(F) YÓÁ◊ÆœÙEı ÂG„Qˆ„aÃ[˝ ÂYÏÃ[˝Y«t A[˝e ÂL. GªRÙO]ÓÁ„XÃ[˝ 

ÂYÏÃ[˝]c˜ÁY«t W˝ÁÃ[˝SÁ V«◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

(G) \ˆÁÃ[˝Tˆ›Ã^ ÊY“l˘ÁY‰ªRÙO ÈÃ[˝◊FEı ◊XÃ[˝[˝◊¨K˜~TˆÁ [˝ÓÁFÓÁ EıÃ[˝”X* 

(H) T ˆTˆ›Ã^ ◊[˝„`ü XGÃ[˝„Eı◊≥V–Eı aÁ]Á◊LEı %Á„≥VÁ_„X 

]◊c˜_Á„VÃ[˝ %[˝VÁX %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) G–Á]›S aÁ]Á◊LEı EıÁPˆÁ„]ÁÃ[˝ Y“E ı◊Tˆ [˝ÓÁFÓÁ EıÃ[˝”X* 

(ªJÙ) a]◊rÙ =~Ã^X Eı]Ôa…ª◊ªJÙ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) =• w¯ `“] [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

(F) "◊[˝`üLX›XTˆÁ[˝ÁV' W˝ÁÃ[˝SÁ◊ªRÙO =VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ EıÃ[˝”X* 

(G) ÂEı≥V–›\ˆ[˝X Tˆ„√º¯Ã[˝ ae◊l˘ä ◊[˝[˝Ã[˝S ◊VX* 

(H) ÂEı≥V–›Ã^ ÿöˆÁXTˆ„√º¯Ã[˝ `Tˆ¤m◊_ [˝SÔXÁ EıÃ[˝”X* 

(I¯) `c˜Ã[˝ C XG„Ã[˝Ã[˝ YÁUÔEıÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) T ˆTˆ›Ã^ ◊[˝„`ü Y“Á◊‹ôˆEı `“◊]„EıÃ[˝ %[˝ÿöˆÁ \ˆÁÃ[˝Tˆ›Ã^ 

ÊY“l˘ÁY‰ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªK˜) Yá˚Á„Ã^Tˆ [˝Ó[˝ÿöˆÁÃ[˝ EıÁ^ÔÁ[˝◊_m◊_ Eı› Eı› ? 

(L) "◊X◊[˝QÕˆ E ı◊b A_ÁEıÁ Eı]Ôa…ªJÙ›' %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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1. Answer any two questions : 20 × 2 = 40 

(a) Explain the features of the concept of 

labour class during colonial and 

contemporary India. 

(b) Critically discuss the behavioural theory 

and normative theory. 

(c) Discuss the contribution of R.D. Mackenzie 

on Human Ecology. 

(d) Elaborately discuss the differences between 

Rural and Urban. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the problems of urbanization.  

(b) Explain the concepts of Patrick Geddess's 

conurbation and J. Gottmann's Metropolis. 

(c) Illustrate the concept of continuum in 

special reference to India. 

(d) Discuss the contribution of women in the 

urbanized social movement in third world 

country. 

(e) Explain the nature of rural social structure. 

(f) What do you mean by the concept 

Community Development Programme ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) Define surplus labour. 

(b) Explain the concept of cosmopolitanism 

with example. 

(c) Briefly describe the concentric zone theory. 

(d) Discuss the conditions of Central Place 

theory. 

(e) Express the differences between City and 

Urban. 

(f) The condition of marginal workers in third 

world countries. Discuss in the context of 

India. 

(g) What are the functions of Panchayat 
system ? 

(h) Discuss the concept of Intensive 

Agricultural Area Programme. 

    
 


